Multiplication Mystery: 6x Table

Can you help Mike, the Maths Detective track down the missing numbers from the 6x table?
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Multiplication Mystery: 6x Table

Can you help Mike, the Maths Detective track down the missing numbers from the 6x table?

%k;/ﬁ x 6 = 54 2;/31;;,/‘ x 6 = 6
x 6 = (\;Q% 23. 6 x:&ﬁg—% 48
x :\/\\:2& 60 %) x 6 = 24
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Multiplication Mystery: é6x Table Answers

Question Answer Question Answer
1. 3 x 6 18 13. 6 0 0
2. 6 8 48 14, 7 6 42
3. 6 x 6 36 15. 2 ) 12
4. 9 6 54 16. b 3 18
5. 1 x 6 6 17. 9 6 54
6. 7 6 42 18. 6 b 36
7. 6 x 2 12 19. ) 10 60
8. 10 6 60 20. 12 6 72
9. 6 x 1 66 21. 6 5 30
10. 6 x 0 0 22. 1 6 6
1. 12 x 6 72 23. 6 8 48
12. 6 x 5 30 24. 4 6 24
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